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KONIEC OPRACOWANIA

Robót bitumicznych
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W4-km 0+545,83
R = 600,0 m

Z = 0,24m

T 0 = 16,85 m

α = 3,57 g

przechyłka daszkowa 2%
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W5-km 0+632,78
R = 150,0 m

Z = 0,50m

T 0 = 12,25 m

α = 10,37 g

przechyłka daszkowa 2%
W6km 0+679,34
R = 40,0 m

Z = 3,16m

T 0 = 15,72 m

α = 49,94 g

przechyłka jednostronna 3%

W7 km 0+767,98
R = 15,0 m

Z = 1,16m

T 0 = 5,93 m

α = 47,95 g

przechyłka jednostronna 3%

W8 km 0+800,00
R = 120,0 m

Z = 0,46m

T 0 = 10,51 m

α = 11,12 g

przechyłka jednostronna 2%

W9-km 0+970,28

(Załamanie trasy)
α = 1,58 g

przechyłka daszkowa 2%

Istniejąca nawierzchnia
z kostki betonowej do
rozebrania w granicach
istn. pasa drogowego
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